ATI5PIIU A ($HEDITBPL) STLP-F21-150

FAN s=1/20
BIES] o
2000 @2000 BIEN s=1/20
[
050x29x1.6 gﬁum
A~ % i
Qﬂb‘ Ligiigfiic)
i =
B 1 ol % |
B
o o
> >
o — | s
I Iz
|
D<
1 v A
_ r
‘ T —L A\
| i a4
2000 @2000

B# AN s=1/3

CERFM s=1/3

AB N s=1/6

\ >
‘1‘
|
[/] 5
|
I
%@é
DEF AN s=1/2
N1 M6x15
©

S B

36 HEMRELE
36 HEHRER
45 R RER

o | (R
| |

50
==

AR B 5=1/4

117
8.5 80 185
EA.14X24
Sla o
j%ﬁ o
A [N
S P9
I B
N S M8X75
M8X55 ‘ ¥ .
lol = BF= B W67y 20
— - - i
‘EJ‘ — g % o oy
|l A (&) N
AHFER S “’& A i s
o
| A i <+
7Yh—=KW ;ﬁé éé éé
MI0X/70
(B1070) 44_129| 44 52.9 50 _B2.5
117 115

5-M6
Ty 7KL}

BUEHA
Jy Y1 THEN s=1/5

?3.6
(04.5)

9

93.6 | | | «
e @]

52.2

2y 2 RN s=1/5

?3.6
(94.5)

$3.6 O

M= IV A &AL



AutoCAD SHX Text
%%U側面図 

AutoCAD SHX Text
%%US=1/20

AutoCAD SHX Text
%%U正面図 

AutoCAD SHX Text
%%US=1/20

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
 50x29x1.6

AutoCAD SHX Text
@2000

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
@2000

AutoCAD SHX Text
%%UA部詳細図 

AutoCAD SHX Text
%%US=1/6

AutoCAD SHX Text
5-M6

AutoCAD SHX Text
フックボルト

AutoCAD SHX Text
%%Uメッシュ寸法図 

AutoCAD SHX Text
%%US=1/5

AutoCAD SHX Text
忍び部分

AutoCAD SHX Text
%%Uメッシュ寸法図 

AutoCAD SHX Text
%%US=1/5

AutoCAD SHX Text
      ( 4.5)

AutoCAD SHX Text
      ( 4.5)

AutoCAD SHX Text
%%UB部詳細図 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
%%UB部詳細図 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
%%UB部詳細図 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
%%UB部詳細図 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
2-M6x10

AutoCAD SHX Text
%%UC部詳細図 

AutoCAD SHX Text
%%US=1/3

AutoCAD SHX Text
4-M6x15

AutoCAD SHX Text
%%UD部詳細図 

AutoCAD SHX Text
%%US=1/2

AutoCAD SHX Text
M6x15

AutoCAD SHX Text
%%U基礎部取付詳細図 

AutoCAD SHX Text
%%US=1/4

AutoCAD SHX Text
長孔14X24

AutoCAD SHX Text
アンカーボルト M10X70

AutoCAD SHX Text
（B1070）

AutoCAD SHX Text
M8X75

AutoCAD SHX Text
M6フックボルト

AutoCAD SHX Text
M8X55


	シートとビュー
	ﾚｲｱｳﾄ1


